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COMMON HALF YEARLY EXAMINATION - 2024
Standard - IX

Marks:100
Time: 3.00 hrs. MATHEMATICS arks:1
. . PART-I '«\‘ \ : 14x1=14
I Answer all the questions: - > \ — .
1. BgAthen n(AnB) is | | 2\ A A)
1) n(A-B) .2)n(B) - 3)nB- A_) nt
2. For any three sets A, B and C (A - B) " n(B -C) is equal to 4,"5
1) A only 2)B only , ~3)/C‘.9'~"’Y e
3. 27 7|\/_“ :’_}LZ_:L, L\7 | ‘ o .
yvEs o s, - @53 + 49 35

simplified
4. When written wlth the ratlonal denominatorthe expression 3 J— can be ‘ P

as - - , o :

. ’1)\/— o 2)_—‘/;-;‘ ‘ \,3)"5“_ , 4)3

- 5. Zeros of(2 3x) Is . »
1n3 L 22 A ?)/g ‘ . N3

6. (a + b - c)?is equal to :
1)(@a-b+c)? - 2)(-a-b+c)?2 3)@@+b+c)2 4)(a-b-c)?
7. Find the valuie of M from the equation 2x + 3y = M. If its one solutionis x = 2

andy = -2, .
1)2 2)-2 - 3) 10 4) 9
8. The angle of the trlangle are 3x - 400, x + 209 and 2x + 100 then the value of X
is : |
1)40° \;)’350 : ~ 3)500 4) 450
9. A chord is at a distance of 15cm from the centre of the circle of radius 25cm.
The length of the chord is ‘\ \’\T) , |
1) 25cm | \/)Q0cm ~A V{ 3)40cm - 4)18cm
10. If one angle of a CYC|IC quadn\ate}‘al is 759 then the opposite angle is
1) 100° ' 2) 105° o 3)85° no 4)90°
2. B
11. If P (3 g) is the mid-point of the. Ilne sEgrgegt joim?g A ( 4, 3) and B(-2, 4)
then (a, b) is g/ ° TG 4 ‘
7y 4O 7
1) (-9, 7) 2) [“ 3 3] 3O ) ( =

n nl’]] CamScanner
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12. The rat _ IX - MATHS
10 in WhIC is divi i L
and (1, -7) ic h the x axis divides the line S€gment joining the points (6, 4)
1)2:3 ' \3( - A
. : . . . A
2)'3 .4‘ } 4:7 4)4:3 [;@ rfa\dJ:
i 2 ) o J V
13. The valye of 1-tan”45° is : | _ ¢ G, ™
' 1+tan?450 = / ' o A M;oﬁ)
b2 .- "2 - 3o - 4) V2 2 “9}1)” Ra €
14, The value of tanl® tan2° tan3° ..... tan 890 js - é) ?Q,.lﬁ@
1)0 2)1 - 2)2 : V3 (}J QJ
: . 4) X= ¥
SETIAR DT kT
PART II .

Anjwer any 10 questions. Question No.28 is compulsory: 10%2=20
Represent the following sets in Rostes form D = {x / Xez,-5<x<2}. ,
,16°’1fA {6 7/8,9y and B = {8, 10, 12} find AAB, - =N G \%“h

l v"(_‘, ' R4
- ad. Flnd any th _7_ _3_2_ ' |
y three rational n‘umbers between 1 1 and 11" 7/3s e X(\f)ﬁ" :
1024 L - 0 1=~
' ; W' ’ ” L—/
18 Find the 5th root of 3105 W e a-, .\ [ &
p 19 S:mphfy the followmg using add|t|on ‘and subtraction propertnes ofsurds
> 3J75 +5/48 - /243 - :
ZD ‘Write the coefficient of x2 and x in each of th foll%lhrjcrfolﬁlnomlals
J—x +\/—x+05 A OL’TJ’K'L(%U
21. Expand (a- b + c)? D S :
22/F|nd the GCD of the fqllownn'g#x_,240x
23. Find the value of x° .
Qt(Find the distance befween the.points, (-4, 3) (2, -3)'—6'
25._Find the centroid of the triangle whose vertices are A(6, -1), B(8, 3) and (10, -5)
6. Evaluate Sin30° + Cos30° :
sin490° | ~ ]
27. Evaluate ° ah ‘ 2
cos4l : 0 :
. ! .
28.4” the measures in the figure compute sine, Coseine and tangent-ratio of the
angle Q. '
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IX-MATHS
PART - 11X
Answer any 1°\questlons. Question No.42 is compulsory. 10x5=50
29, If A = (-3, 0, 1,3 $}B {-1,0, 2,5, 6}andc-

{ -1, 2, 5,6,
Ahat(A)- (BUC) = (A-B) (A -C). i thea shew

(13
. Verify (AnB)'=A'p using venn diagrams. j

gi Itn :\ class, all students take part in either music or drama or both 25 students
ake part in music, 30 students take part in drama and 8 students take part in
both music and drama Find

i) The number of students who take part in only music,

i) The number of students who take part in only drama.
m) The total number of students in the class.

. Represent the followi AA m%mbers on the number line 45’5 upto 4 decimal places.
) X . " AT

33. Given J' 1.414 find-the value of 8

od3 (to 3 places of decunals)

1 3 ' 1 %{}
34. If Ly ~y * 27 then find the value of Y° Y _ Y
\,a(Fmd the quotient and remamder for the fol!owmg usmg synthetlc dwnsuon \>/\
+x2-7x-3) + (x-3) |
% Solve 3x - 4y 10 and 4x + 3y =5 By the method of cross Multlpllcatnon -

.+ Find the length of a chord which is at a distance of 211 cm from the centre of
a circle of radius 12 cm, 2.

38. Find the value of a such that PQ QR. where P, Q and R are the pomts whose
co-ordinates are (6, -1) (1 3) and (a,8) respectively. 4 :

29 The mid point of the sides of a triangle are (2, 4) ( 2 3) and (5, 2) Find the
Co-ordinates of the vertices of the triangle. : -

40. Using section formula show that the points A ( 7, 5) B( 9 -3) and C (13, 1) are
,collinear. A . E\'FQJL

M Iftan A = 2 then find alI the other trignometric ratios.

coto . cos(90°-9) tan 0 sec (900—0) .
42. Find the value of the fo||owmg tan’(90°—6) sm(90°—0)c0t(90°-e) cosec (90°-9)

" PART -IV 2x8=16
-437 A) Construct the ALMN such that LM = 7.5 Cm MN = 5Cm and LN = 8Cm Locate .
the centroid. - (OR)

B) Construct the incentre of AABC with AB = 6cm /B =650 and AC = 7 cm Also
draw the in circle and measure in radius.
44. A) Draw the graph : 3x + 2y =14 (OR)
B) Solve graphically : X +Y=7;x-y=3.

G
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